FgArea: [0 ]
NC11 P3-3
2025-04-11 (Day 13)




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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P3-3

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

01:35 125 80.0 |Z =& Bi%@01:35 (KRFERSE)
02:35 125 80.0 (&= FH#Be02:35 (KRF{ERLEE)
03:35 125 80.0 FA Fn#fe03:35 (KRFERES)
07:40 125 80.0 1] FiHAe07:40 (KREEREE)
09:35 125 80.0 i FiHA@09:35 (KRHA{EREE)
10:50 125 80.0 5 Fn#e10:50 (KREERSS)
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P3-3
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13:20 120 70.0 5 Bi%@13:20 (KREERSE)
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